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R 164 69 6 19 14 11 3 1 15
174 77 5 25 13 11 5 2 16
184F 80 10 16 13 12 8 2 19
194F 91 10 23 15 11 8 5 19
204F 79 7 16 12 7 17 2 18
215 86 14 17 10 16 17 3 9
224 85 6 11 13 9 11 1 34
234 102 8 24 12 8 12 0 38
245 105 10 19 14 17 17 0 28
254 87 7 16 13 9 16 1 25
264 79 5 17 11 9 15 2 20
274 75 6 13 8 10 27 2 9
284 94 6 12 11 14 22 2 27
& F IR 1B
EREBRIRE (FhE)
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14k 48,138 39,982 83.1 44 441 92.3
2%k 40,801 28,804 70.6 37,344 915
Z D 202,854 95,565 471 115,654 57.0
T 291,793 164,351 56.3 197,439 67.7
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BB TKE £ ER 2,891 2,326 80.5 2,310 99.3
BB TKE BRI R 753 753 100.0 691 91.8
[EY: K AR 92 92 100.0 83 90.2
[EY: RANER 409 409 100.0 381 93.2
FE: ENBLER 592 592 100.0 504 85.1
18 ) 403 (R N ] 1,843 1,523 82.6 1,523 100.0
it 6,580 5,695 86.6 5,492 96.4
TERk29%3A31BIRA

20




-

LER - #BEKBEDINKE
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aJ Ay 209 225 223 219 240 242

ZH(t) | Y 42 52 43 48 45 42

&t 251 277 266 267 285 284

LB - #EHEK (ke) 1,249 1,362 1,161 991 1,113 1,016
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a] XY 252 250 254 259 273 262
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LB - #EHEK (ke) 904 813 850 733 706 695
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Rf0 - EAM 8,416 7,972 7,036 7,210 6,213 5,665
EH - BAMm 6,169 5,580 5,431 5,920 5476 5111
BFRARAE 8,053 7,992 7,289 7,911 8,438 8,900
B & A m 1,883 2,241 2,219 2,101 1,607 1,735
= =t 24,521 23,785 21,975 23,142 21,734 21,411
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